(1 1) FEAEmtmIafE ()

(fifiks . [ nd, ZEEE : %)

fx £ 1
NEAL | 2 ¥ M & B [ #BER LW M oo BT 7 H S FnoCAE R VEHIA AR | 2 R VE AR | AdhsR
M/ M,/ %

1 |#—10 WD [BERARK—THEH1424%1 4, 530, 000 4,720, 000 4.2
[Rk1—14—11]

2 |TRHE—-1 WA | TR XISER 6 % 14 3, 960, 000 4, 050, 000 2.3

3 |[TFfHE—2 HEs  [TRHEX=%ET9 % 4 2, 940, 000 2,990, 000 1.7

4 | TRE—4 HOoRAl | PAVHKERT T H 1 0% 44 2, 520, 000 2, 560, 000 1.6

5 |#k—6 R [ERAAKRETH3I 6 7%F1 2, 250, 000 2,270, 000 0.9
ANEAAS5—13—11]

6 |TRHE-—3 WA | TREXFIL2%10 2,210, 000 2, 240, 000 1.4

7 (-4 WA [BXMEEFILMTE48 7% 1, 840, 000 1, 890, 000 2.7
[A#HL4—26—18]

8 |#—3 WA |EXEMAA=TH4%E 2 1 1, 750, 000 1, 770, 000 1.1
P33 —15—8]

9 |#k—5 WRE  [EXEEHFLETH274% 1, 590, 000 1, 610, 000 1.3
[FE#&IL7—13—5]

10 |#—9 HoAt  |EKEMIUTH1%3 4 1, 500, 000 1, 550, 000 3.3
FEgma—5—16]

10 |¥EA—1 HEHE  [EARMERI=ZTH16%&1 4 1,510, 000 1, 550, 000 2.6
THERi3—16—6]

[} % 1
NEAL | 2 ¥ M & B [ #BER LW M o g fE H S FnoCAE R VEHIA AR | N2 R vE AR | AdhsR
M/ M,/ %

1 [|#Hhs5—13 HRHE [ T H 2% L 94 43, 200, 000 41,000,000 A 5.1
FeRFE2 —6 — 7]

2 [fhdk5-14 WAL |PRXEREARNTH 4% 1 344+ 31, 700, 000 30, 700, 000] A 3.2
F#RfE6 —8 — 3

3 |FRES5—1 R [TRERALON=ZT B 2 &4 27, 200, 000 27, 300, 000 0.4
[FoOoWN3—3—1]

4 |#5—-14 WHAS  [EXIEFIL=TH3 3%2 26, 600, 000 27, 000, 000 1.5
Fdt#HFI3—5—30]

5 |[TRES5—24 |[Hi# |THREXKFEI—THSZE3 94 26, 000, 000 26, 100, 000 0.4
FTRE1—8—1]

6 [lk5—2 KU | R ALK KRR 2 0 7 &St 21, 700, 000 23, 600, 000 8.8
TREEET4—2 0

7 |5 -—3 KB | BT H g KA 4RI 4 6 % 1 4+ 24, 400, 000 23,300,000 A 4.5
[RAREMT 7 — 2 ]

8 |#HifES5—4 HOAt e XN T H 1 8% 2 20, 100, 000 20, 000, 000] A 0.5
TrHEL1—18—2]

9 |[#H1E5—10 WA [ETE ETE = T B 5 & 24t 18, 800, 000 18,200,000 A 3.2
#1153 —5—4J

10 [FFF5—1 TR |AHETRRNXARITH2 70 1 %5+ 17, 500, 000 17, 500, 000 0.0

T#ER=TH28%1 2%]




(fifiks . [ nd, ZEEE : %)

T % Hh
NEAL | 2 ¥ M & B [ #BER LW M oo BT 7 H S FnoCAE R VEHIA AR | 2 R VE AR | AdhsR
M/ M,/ %

1 |9 —1 WA (PR LT H 4% 4 550, 000 564, 000 2.5
[#m5—4—36]

2 | KE9—2 HOoRAt | KHEKEmE=TH1 3%3 459, 000 475, 000 3.5
[FfE3—1—11]

3 [[Emo—1 WA [IEXHW _THG6 2 6% 34+ 420, 000 430, 000 2.4
F#w2—3—2]

4 |[dbo—1 WA BT H 3 3& 14+ 325, 000 329, 000 1.2
[HEM2—33—11]

5 [{TEo—2 WD [THEEEHARGNTHL 2% 1 2 295, 000 303, 000 2.7
[#AE4—3—-17)]

6 [KH9—1 WA | RERREG - TH7E&E27 292, 000 301, 000 3.1
[RiEE2—7—16]

7 @y o—1 HEH  |RVXRTEHEEI2 156 254, 000 257, 000 1.2
TR 1—21]

8 |HEk9—1 KBF | R R B/ MEL TH1 7% 5 249, 000 250, 000 0.4
TH/AMEL—17—7]

9 [|RE#E9—1 KB | RIRMIRIEXEE 3 TH8E 1 3 238, 000 240, 000 0.8
M3 —8—8]

10 |#db9o—1 PRZR)INR (BRETH#EALX T4 TH 1 0 7 334 237, 000 239, 000 0.8
Fmr4a —13—6]

S A i
BN | 3 v H & 5 [ #REFR JLYE M > T & Hh BRI TAR SR VE MRS | S Fn24E AL UERNAMAS | 28 EhR
M,/ nt M/ nd %

1 |HHR5—-13 WA | XEREE T H 2% 1 94t 43, 200, 000 41, 000, 000] A 5.1
T#RfE2 —6 — 171

2 |fR5—-14 WA [HPRXEREARSTHAE 1 344 31, 700, 000 30, 700, 000] A 3.2
[4RFE6 —8 — 3]

3 | TMtH5—1 HoAt | FAHEEKRARORN=TH 2 F44 27, 200, 000 217, 300, 000 0.4
FHON3—3—1]

4 |#5—-14 HRHER  [EXAEFIL=TH3 3%&2 26, 600, 000 27, 000, 000 1.5
Fdt#H113—5—30]

5 |TMRH5—24 [HEH | TREXKFEI—THSES3 9 26, 000, 000 26, 100, 000 0.4
TRFHT1—8—1]

6 [dk5—2 KBOF | RIRITAEX RGRET 2 0 7 &4+ 21, 700, 000 23, 600, 000 8.8
FREEET4—2 0

7 |5 -3 KRBT | R s XA P 4 6 % 141 24, 400, 000 23,300, 000] A 4.5
FrAfEMT 7 — 2]

8 |HiE5—4 WS (e RERTE — TH1 8% 2 20, 100, 000 20, 000, 000] A 0.5
[PEHmE1—18—2]

9 |#E5—-10 HOAE  PHTEOETE =T B 5% 24t 18, 800, 000 18,200, 000[ A 3.2
T#E3—5—4J

10 [FF5—1 AR [AEBRTHRNEARS T 70 1%+ 17, 500, 000 17, 500, 000 0.0

H2
TZER=TH28%1 2%l




